

إِسْتخدِمْ خَاصِيَّةَ التَّوْزِيعِ لِإِيجَادِ كُلِّ نَاتِجٍ ضَرْبٍ.

$$3. \textcircled{4} \times 6 = \underline{\hspace{2cm}}$$

$$= (\underline{\hspace{1cm}} \times \underline{\hspace{1cm}}) + (\underline{\hspace{1cm}} \times \underline{\hspace{1cm}})$$

$$= \underline{\hspace{1cm}} + \underline{\hspace{1cm}}$$

$$= \underline{\hspace{2cm}}$$

$$4. \textcircled{6} \times 6 = \underline{\hspace{2cm}}$$

$$= (\underline{\hspace{1cm}} \times \underline{\hspace{1cm}}) + (\underline{\hspace{1cm}} \times \underline{\hspace{1cm}})$$

$$= \underline{\hspace{1cm}} + \underline{\hspace{1cm}}$$

$$= \underline{\hspace{2cm}}$$